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instructions: Pia,f]so snow ali of your work as parfial credit will be given where
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2. {15 pis) Find the limit, it exists. {Show il work.)
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3 (10 pts each) hind the indicaied dervative of the given funchons.

{a) [ (an| A4x b 3x - Ficos [3x1 (Do not bother fo simplify!)
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{Note: This is #3 confinued!}
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(Note: This is #3 continued!)

d : 2
(d) ?é' given 2x* y+y’ =2x - 6x

d
(Solve for wd—i— ,i.e. get it by itself, but don’ bother simplifying any further.)
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4. {15 points) Choose either A or B to do. You CANNOT get credif for both and we will
not choosa for you. if you decide to try both of them.

Grade Ao 8 {circle one}

A A meialrod has the shape of a right circular eylinder. As i 15 being healed, s
length is increasing at a rate of 0.005 cm/min and its radius is increasing af 0.001
cm/min. At what rate is the volume changing when the rod has length 40 cm and

radius 1.5 cm?

B A softbhall diamond has the shape of a square with sides 40 1. long. it a player s
running from second base to third base at a speed of 20 fi/sec, at what rate is her
distance from home plate changing when she is 30 ft from thircd base?
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Exira Credit {7 pis} :
Show shﬁi ?hf\%qngem ines to the curves s =4y and 2x'+3v ‘=14 al {1 2) are
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